

$$\frac{3a^2 - 6a + 3}{\frac{a^2 - 1}{a + 1} \cdot \frac{1}{a - 1}} - 5a =$$

$$1 + \frac{1}{2 + \frac{1}{3 + \frac{1}{4 + \frac{1}{5 + \frac{1}{6 + \frac{1}{7x}}}}}} =$$

$$\frac{\frac{m^2 - 3m}{m}}{\frac{m^3 - 2m^2 + m}{(m - 1)^2} - \frac{3m^2 - 3}{(m + 1)(m - 1)}} + \frac{1}{3m} =$$

$$\frac{\frac{\sqrt{r^3 + 1}\sqrt{r - 2}}{\sqrt{r^6 - 2r^5 + r^3 - 2r^2}}}{\frac{1}{\frac{1}{\frac{1}{r}}}} =$$

$$\frac{s}{\frac{s}{a} + \frac{s}{5a} + \frac{s}{11a}} - u =$$

$$\frac{\frac{1 - x^2}{x^4 - y^4}}{\frac{(x + y)(x - y)(x^2 + y^2) - x}{1 + x}} =$$

$$\frac{\frac{1}{t - 1} - \frac{1}{t + 1} + \frac{2}{t^4 - 1}}{\frac{1}{t^2 + 1}} =$$